Name:
7.5 Practice Problems

1. Given: Isosceles trapezoid ABCD, m<BAC = 30° and m«£DBC = 85°
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XY is the median of trapezoid QRST in problems 6-11.

6. X¥Y=18and TS =7. 7. TS=nand QR = 6.
Find QR. Find XY in terms of n.
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Graph and label each quadrilateral with the given vertices. Then determine the most precise name for each
quadrilateral. Explain why you chose the name you did. Show work to support the explanations.
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16. ATTENDING TO PRECISION In trapezoid PQRS,
PG || RS and MN is the midsegment of PQRS. If % & X+5x Cx
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